STAT-319 Formula Sheet for Final Exam Term 152

Chapter 2
P(AUB)=P(A)+P(B)—P(ANB)=P(ANnB°)+P(ANnB)+ P(A°NB)
P(AUB)=1—-P(AUB)=1-P(A°NnB°) and P(ANB)° = P(A° UB°)

P(A|B) = P;‘ng) P(B)#0 and P(ANB)=P(A).P(B|A) = P(A|B).P(B)
_ __P(A|By).P(B)

P(B; | 4) = ¥ P(4|B).P(BY’ P(4)#0

Chapter 3

n=EX)=YXxf(x); EX?»)=YXx*f(x) and o®>=EX—w?*=EX? —u?

1 + -x1+1)%-1 .
fOO) == x=x1,%p, 0, X0 U= %; 0% = % (for consecutive integers from x; to x;)

fo=(3)p* @ =p)"% x=01,..,n p=np; o=np(1l-p)

fX)=pA-p)* 1 x=12,...., u=1/p; o2 =1A—-p)/p?

(DG,
flx) = (—n)x x = max{0,n + K — N}tomin{K,n}; u = np; 0% =np(1— p)m' p=—
Fo) = 0 =0, i = A 02 = At

Chapter 4
F(b)=P(X<b)=["_f(x)dx and P(a<X<b)= [ f(x)dx=F()-F(a)

u=EX)=["_xf(x)dx; EX?)=["_x*f(x)dx and o =EX—p)?=E(X?) —u?

f) = xSx <y p= of =il
—_ . N _1. —_ 1
f(x) =2e™*; x> 0; =3 02—/1—2
X~N(u,0%); Z==E~N(01); 7 =2t _NO,1)
“Iym



Chapter 6

(22X

Sample mean : X
n

Locating percentiles (P,): R, =%(n +1)=id and

Coefficient of Variation: CV =s /)Z ; Coefficient of skewness: CS =

Chapter 7

X ~N(1,6°)=Z =2 "H N (©01): X ~N (1,62 /n)=Z =
O

)Zl—Xz

Chapters 8-10

; Sample variance:

=y, O
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Confidence Interval Test Statistic
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Chapter 11

S = XX =2 (0% 5, =3y =T sy =Zxy—-CNCE)

~ A A ~ A Sy A oA
Y=B+BX+e, VY=p+pX, e=Y-Y PpB== By=y—px

Sxx
SST = SSR + SSE, SSR = By, SST =s,,,
SSE = SST — SSR, MSE = % MSE = o2,

S 5 |s SSR
r=—2=2—=p4 [ and R?==—
\ SxxSyy Syy SST
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